(-3x-2)2 & FARs}A?

® 3x24+2x+2 @ 3x2+12x+2 ® 9x%2 +2x+2

@ 9x2 4+ 10x+4 @9x2+12x+4

(=3x)2 + 2% (-3x) x (-2) + (-2)? = 9x? + 12x + 4




2. (2x-5)? = px? +qx+25 L W, 5 p, g o W5t p-g o 727

@24 @ 30 ® 36 @ 42 B 48

(2x)2 = 2% 2xx5+5% = 4x2—20x+25 O| D& p—g = 4—(-20) =
24
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& 27} o] @ we] o)z} am 9 A}
A9 B AL ARG A2E At
m T 52 ), gheke] yolk? NEE g

@ (a® - 3a+ 2)m? (@)(a2 + 3a + 2)m?
® (a®+2a+ 1)m? @ (a®-4a+4)m?

® (a®+ 6a+ 9)m?

sold o] 7tz 9] o] (a+1)m , AIZ9] 4] (a+2)m
wrabA] StEo] Yol (a+ 1)(a+2) = a® + 3a + 2 ©|t}.




5. (x=y+2)(x+y+2)E AN Al 7P LA AL A2

@ {(x+y) -z} {(x+y)+2z}
@ {(x-y) -z} {(x+y) -2}
@ {x-(+2}{x+ -2}
@{+9-r {x+9+)
® {(x-2)-y}{(x-2)+y}




@ 3x ® xy @ 2xy ® 2x?

©2x

4x% - 2xy = 2x(2x - y)




7. o

oo

S (axb)? o FHZ AEof=e A2?

1
@x2+x+1 @ x? 4 8xy — 16y?
® 4x> +6x+9 @ x%+16

® 2x% — 10xy + 2y?

a>+£2xaxb+b?=(axb)?

DR txta= <x+1>2
4 2




¥ -2x+1=(x-1)2




9.  a®-4p* & RIEalekH?

D (a-2b)? @) (a +26) (a-20)
® (a+Db)(a—4b) @ (a+2)(b-2)
® (a+2b)*

a2 — 4b? = a? - (2b)*
= (a+2b) (a - 2b)




10. x*-7x-8 & JAFE3stHA?

O @+1)E+8) @ (x-1)x-8) @r+1)(x-8)
@ (x—1)(x+38) ® (x—2)(x—4)

‘ ¥ -Tx-8=(x+1)(x-28)




11.

@ 5x+1

® Tx+7

® Tx+1

6x2 +x—12 = (3x - 4) (2x + 3)
o (3x—4)+ (2x+3) =521




12.
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ol B AxpAo]tt,

@D 4x-2 (@)4x—|—8
® 3x+8 @ 4x-8
® 3x-8

~

[ (-

E
—

EE
— .

P 4+4x+3=(x+3)(x+1)

w2tA E8o] 2ol 2{(x +3) + (x + 1)} = 4x + 8 °]Th.
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13. ma—mb+mc 5 ATE3

® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)

ma —mb+mc=m(a-b+c)




14, oh22 A5 FAE o]gsto] 1112 - 1102 o & ote 7Y
oltk, ¥ a, b, c T a+b+c 9 TS FolH?

1112 1102 = (111 + a)(111 = b) = ¢

D 110 @ 221 ® 321 @ 421 @441

1112 - 110% = (1114 110)(111 - 110) =221 x 1
. a=110, b =110, ¢ = 221
a+b+c=441




15. 25x2 - 16y =9, 5x+4y =9 W], 4y — 5x 9] Zt-& F#5}H?

® -2 @—1 @0 @1 ® 2

B

25x%2 =16y =9, (5x+4y)(5x—4y) =9
9(5x—4y) =9

Sx—4y=1

L4y —-5x=-1




